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#2 — 3: Solve the following quadratic equations using the indicated methods.
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Which method was the most efficient for this problem and w
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#2 - 3 (continued): Solve the following quadratic equations using the indicated methods.
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Which method was the most efficient for this problem and why?
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4. List the method(s) for solving quadratic equations that:

a) You can always use but often it only gives approximate answers.
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b) You can always use to solve quadratic equations.
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¢) You can only use sometimes to solve quadratic equations.
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#5 —7: For each equation, determine an effective method for solving the quadratic equation and explain
why you chose that method. Solve the quadratic equation with the method of your choice, keeping

the answer exact (no decimal approximations).
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7. x2+7x-18=0
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#8 — 11: Determine an answer for each situation. Be sure to clearly record your thinking. R
8. The product of two consecutive integers is‘72. Find the two numbe (‘T . ¥ 49
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9. The length of a rectangle exceeds its width by 3 inches. The area of the rectangle is 70 square inches. Find its

dimensions. -
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#5 —7: For each equation, determine an effective method for solving the quadratic equation and explain
why you chose that method. Solve the quadratic equation with the method of your choice, keeping
the answer exact (no decimal approximations).

5. 2x%+45x-3=0 T fectored eo,fi"/j,
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7. x2+7x-18=0
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#8 — 11: Determine an answer for each situation. Be sure to clearly record your thinking.

I

8. The product of two consecutive integers is 72. Find the two numbe & 49
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9.  The length of a rectangle exceeds its width by 3 inches. The area of the rectangle is 70 square inches. Find its
dimensions. -
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Ryt ansors

5.2 ] CAN REPRESENT REAL-WORLD SITUATIONS WITH QUADRATIC EQUATIONS AND SOLVE USING P-45
APPROPRIATE METHODS. FIND REAL AND NON-REAL COMPLEX ROOTS WHEN THEY EXIST. RECOGNIZE
THAT A PARTICULAR SOLUTION MAY NOT BE APPLICABLE IN THE ORIGINAL CONTEXT.




Name Period

#8 — 11 (continued): Determine an answer for each situation. Be sure to clearly record your thinking.

10. Suzie wants to build a garden that has three separate rectangular sections. She wants to fence around the
whole garden and between each section as shown. The plot is twice as long as it is wide and the total area is

200 square feet. How much fencing does Suzie need?
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11. Mike wants to fence three sides of a rectangular patio that is adjacent to the back of his house. T he area of
the patio is 192 ft? and the length is 4 feet longer than the width. Find how much fencing Mike will need.
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#12 — 13: Solve each quadratic equation 2 different ways. Record the method that you are using for each.
(Square Roots — Factoring — Completing the Square —Quadratic Formula)

12. 2x%2+3=21
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Why did you choose the two methods that
you did and which do you feel is more
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#12 — 13 (continued): Solve each quadratic equation 2 different ways. Record the method that you are
using for each. (Square Roots — Factoring - Completing the Square —Quadratic Formula) |

13. The length of a rectangular pool is 10 meters more than its width. The area of the pool is 875 square meters.

Find the dimensions of the pool.
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#14 — 17: Solve the following quadratic equations with the method of your choice. Verify that the answer

is correct:
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v'Verify that your answer(s) are solution(s):
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#14 — 17 (continued): Solve the following quadratic equations with the method of your choice. Verify that

the answer is correct:
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18. The height % (in feet) above the ground of a baseball depends upon the time # (in seconds) it has been in
flight. Joe takes a mighty swing and hits a bloop single whose height is described approximately by the

equation i = 80¢ —16¢7.
a) How long is the ball in the air?

-)bt> + 30t T ©
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b) When does the ball reach its maximum height? U§€ 3;&/5’&»&? (\u{ c Z
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¢) What is the maximum height?

JoO £t

d) It takes approximately 0.92 seconds for the ball to reach a height of 60 feet. On its way back down, the
ball is again 60 feet above the ground. What is the value of £ when this happens?
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